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Lemma: The sum of degrees is 2|E|, for a graph G = (V, E).
The number of edge-vertex incidences for an edge e is 2.
The total number of edge-vertex incidences is 2| E]|.

The sum of degrees is 2|E]|.

Handshake lemma: sum of number of handshakes of each
person is twice the number of handshakes.
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Directed Paths.

Path: (vq,v2),(v2,v3), ... (Vk—1, Vk)-
Paths, walks, cycles, tours ... are analogous to undirected now.
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Is graph above connected? Yes!
How about now? No!
Connected Components? {1},{10,7,5,8,4,3,11},{2,9,6}.
A connected component is a maximal set of connected nodes in a

graph.
Quick Check: Is {10,7,5} a connected component? No.
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